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Part III

2 Wlflués / BIOLOGY
(3Bl wHpibd Skl auyf) / Tamil & English Versions )

Gpyb : 3 wewel | ' [ Qurés wHGLTTaET : 150
Time Allowed : 3 Hours ] - ' [ Maximum Marks : 150
Ifleyey  : soass alamsseand sflure LHaurd o dateT aETLSMET gl &8ié

Qareereyn. Sgstudale @opdeiles, s &>Gcmarr€ab‘ﬂuurrmrﬂLm
2 L aonqurssd Qgiflalésa.

Instruction : Check the question paper for fairness of printing. If there is any lack of
E fairness, inform the Hall Supervisor 1mmed1ately

ooy : ugd - 1 g,rrsugoﬂu.lsmeuu.;m, ug@d - I a.‘ﬂsumé]wcmanqm geN &g
afleooLgamefler allevL weflésayb.

NoB. Candidates should answer Part - I ( Botany ) & Part - II ( Zoology ) in
separate answer-books.

u@d - 1 (sreuyeailuéd) / PART - I ( BOTANY )
(wHUQUGTTISET : 75) / ( Marks : 75 )

ifley - & / SECTION - A
ey : 1) Soearpg alomssanseh el wellésab.
H) sflurer eleows CorbOshss erupsab.

Note: i) Answer all the questions.

ii) Choose and write the correct answer. 14x1 =14,

I @@G\&n HRLWA@ weopeow ePupeiu@sdu g;rreur)ofﬂmo) SMlEpit
=) &,(El;rrrmsm &Sl a1 GeoTieny : q__;."\_;,) STevUT( LTamles
@) e (Sgrréu LT 65T QO&esT - ) SILTEL eriem.
The Botanist who intr_odoced binomial system is
a) Carolus Linnaeus b) Gaspard Bauhin

¢)  Sir Joseph Dalton Hooker . d)  Adolf Engler.
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Goe Qaser oEdhe CrisCsmi iy sembLTLE, FHN ETWEUTS - HTOTILFD

@@®butd
9|) wrevGeudl | : <) OereCears
@) woolurriiGus ") LB]lg,(Ba-éﬂ. é

The carpels are obliquely placed in the members of

a) Malvaceae b]' Solanaceae
c) Euphorbiaceae d) Musaceae.
a‘?lsvrr(‘.?l_rr@é;@ PG TOSHEHTL D

Q) eevrpgen erbfleflasr <) Glyevleoren sy eflev

Q) e Gyrodur Gisray F)  wooGumihur lmsseraf].

An example of cladode is

.a} Phyllanthus emblica . b)  Ricinus communis
c) Jatropha curcas d) Euphorbia tirucalli. |
CoeBBo® LAV ................. STEUTSS6T @lemevsemen LIGSTUESSe0rid.
<)  efarar Crrdur T L gty G’asrrsﬁrr Bl
Q) wareSlur @)ebrg s . : ®) gpevse Lir@hluetdlen.
Leaves of .. inl can be a substitute for tea.

‘a} Vinca rosea ' ' b)  Cola nitida

c)  Acalypha indica - d) Ilex pﬁragu_riensis.

......... o BOTé SLSgID (p&Héus oG 6T ém&a)é, GPTILG6T 2_efieredT.
<) OLACLrSemLL Hasfe | 2) lbGarmen@uibaafid

8) < EACursGlLuinegsfd . 7) UerCurenul Gaefle.
Vessels are the chief water conducting elements in

a) Pteridophyta : b) Gﬁnnosperms

c) Angiospérms d) Bryophyta.



3 | 7740
DNA epevédgaflest e LD
o) 18A : | 3) 20A
@) 34A ' | ®) 354,
The width of DNA molecule is
a) 184 A b) 204
c 344 | d 35A
ATP et Nevs 4 Hmev ﬁ]mmﬂqaaﬂé&r 6T 6507 60011 60 &
2l GE %) Qe
Q) wan F) BIeg.
The number of high energy terminal bonds present in ATP is
a) one b) two
el . three - d) fpur.
SledTeu(m et b mieT a8 W LBy grab 2
T %) seu@LLT | %) éﬁ]é?ug,fn
@) LyenSym ' ) GurGerm Gymum.
Which of the following is a total parasite ?
a) Cuscuta b) | Viscum
c) Drosera : d) Mﬁnotropa.
@Gr,rrr@mrr@&rrfo-e're&[o QU P WarLdSSuaT
<) Jfigpen ) mrrs'nami_@r'r
@) urrénﬂmr’rsc‘oﬂ BFaE ‘%) Nembibl.
The term ‘chromosome’ was introduced by
a) Bridges ' . b) Waldeyer

c) Balbiani d) Flemming.
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10. Sesteupd ahe peatn s G aurs 2 Wflonorgb 2

9)) oILFuGL Temwlén

<) orGemiwib

Q)

)

Gaedlwbd -

evemL(mefeoT,

Which one of the following organisms is an SCP ?

a)

b)

c)

d)

Streptomyces

Rhizobium

Galium

Spirulina.

aeTlLRD Ursses 2 pusbd Geldpg.

=)
24)
@)

")

a)

c)

Qe remr LemmssiL g Slydlwreonr-( Pentadiplandra brazzeana )
D GOTET 1419 &IT
Cagrergav Crrdélwev ( Catharanthus roseus )

gdlev wiritblevman.

.............. a native plant of West Africa, produces a protein called brazzein.

Pentadiplandra brazzeana b)  Mimosa pudica

Catharanthus roseus d) Aegle marmelos.

eastugl Cuope wulflesraler eer@bd sragoreb. @ JCyéer
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13.
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> Bpeten sray QeadlldBhel WW BSTAUIE®S 2 (BAUTSGD DB oo

eresTILHID.
<) LIUTH oLgev <) 2DUYSHETTEHSD
@) qmg;(ggrrg'jgj 2 (HeUT&H &L ®)  wpdner Qubnererenn.

The inherent potential of any living plant cell to develop into entire 'organism is

called
a) differentiation b) organogenesis
c) morphogenesis d) totipotency.

.................... Gurestp Hlev 9y ERFCuITENQILTDSET LemswD HHD STeoriu@ &l Deor.

. @Qeeu ewsGareyares Geursmemensd GlametorHereng).

3 Cameur =) wrGerrGrrurm

@) alevab F) SeV@L L.

Certain aﬁglosperms like ......... lack chlorophyll and have mycofrhizal
roots. ' . '

a) azolla | b) monotropa

c) viscum .d) cuscuta.

QUTEDL, HEEUTELD W gﬁmglﬂjmaﬂeﬁr @eveserblle Bl esdly augel LTYeTem s

Qeeva el &nmﬂu@é\é&mm. SDIEDE ecrvrerrrrannnnres LITTEOTEOGLIOT 6T60TLILI () 65T DEOT .
&) oL aGel UTyeTemSHLT @) yGymeeremsion
@) gyeremabT ' 7) @Qenmyesiemsion.

In the petioles of banana aﬁd_canna the shape of parenchyma cells is star-like.

These cells are called

‘a) stellate parenchyma b) prosenchyma

c) 'aergnchyma d) chlorenchyma.

[ SlLine / Turn over
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15.

16,

17,

18.

1520

20.

21,

99

23.

24.

fley - @ /| SECTION - B

ooy : gCseib gup aleaimésE@hé@ WL (b alle weilésayb.

Note : Ahswer any seven questions. ‘ . T8 =121

|_rf1_;(3|_rreuﬂio eUEDTWD). 6 2 Sy eoorld HHE. .

Define taut-onym. Give an example.

wre@eudllles euemaliLT [B]Gmsu-emﬁ (LGS .

Mention the systematic position of Malvaceae.

@eoelloLsdle aatmTe ereTe 2

What is a mesophyll ?

UM eSTEm&IOT Slaemeuls LD eUeniha UTHhGener GDl.

Draw the parenchyma tissue and label its parts.

Serse grfloe @@grr(‘&mrr@&mb ULD eUeoIhE LTSRS eNdH GhléHeHeaD.
Draw the sti‘ucture of lamp-brush chromosome aﬁd label i.ts parts.
Qe Méayedt eretorGLmhly HeMGue v eresTug wrg) ?

What are restriction éhdonucleases ?

fléwresoit. ek aleveray ereéwﬁ)nsb eredTenT 7

Wﬁat is Richmond-Lang effect ?

<L 8lé ouflewsdler gCoeid @ eurpalus alaeTasaers sHs .
Write two physiological effects of Abscisic acid.

Cougls Carsens -sre&rgpwg.ia eTEbTEnT ?

Define chemosynthesis.

2 0 4&H&QaTeed eresTpTE aredtent 2

What are biopesticides ?



25.

26.

27.

28.

29.

30.

31.
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NMley - @) | SECTION - C
eoliy : 1)  gCswmid Brars aﬂsmrré»&:@éé@ e welldsan. elem eedor 26-8e,
' &&ooTg LTS allevL_welées CeuessrBib.

i) GCoeoewrer GLisefé LLD aurueayD.

Note : i) Answer any fOur.quesfions including Question No. 25 which is

compulsory.

ii) Draw diagrams wherever necessary. 4x5=20

By Csdl ®@DBLS sTaThseia QUIGETTETT WeHHUSGIMSS TDBIS . -
Give an account of the economic importance of the family Musacae.

halsdloas sreuy Goufletr NG Qo (s Cambpsems ULD euHE UTHREET
eNésan (QuiisréasiulL g LGS L ED ) |
Draw and label the parts of the transverse section of a Monocot root ( A sector

enlarged ).

DNA eé@ib RNA ayé@id 2 ater Ceumpur e wremes 7

Write the differences between DNA and RNA.

Qprdser wpeon yyriGLmiene sellsOs@dsoe allaufl,

Explain the enzymgtic method of isolation of protoplast.
Gefitugend upd Sy GHILY euenys.

Write a short note on Vernalization.

C3 wpid C, m@@gL@&@&e‘jm'L@m 2 eften GeupiUT@&e WTema ?
What are the differences between C; and C, pathWays ?

sreuyts Ll @u@é&ﬁ@e&r gQ@asenid é[_'bgﬂ G@N&Camairs el o1(pgIs .
Write any five aims of plant breeding. -

[ $l@Liys / Turn over
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fey - # /| SECTION - D

eoly : 1)  gGzeb @ren® olarssanse oL wsflssamb.
i) Caeveuwret @Lhsefles LLD euemTLeD.

Note : i) Answer any two questions.

ii) Draw diagrams wherever necessary.' " 2x10 =20

32. ) OQupsh LHDIL ATOSET AENSILTLILET HlED&HET &8!S
<) QaptCGuiiugde ( Herbarium ) (péelubgiousens e(pgs.
a) Bring out the merits of Bentham and Hooker's classification of plants.

b)  Bring out the slgnificaince'of Herbarium.

33, &) osssdle Osdseflear Laysm@en QSIS
@) UpsGsres Haserelilles uamtlamer & pgls.
a) Bring out the characters of meristematic cells.

b) Write the functions of epidermal tiséue system. '
34. sreupsdle euemiiiSle LGB 6T WITeneu ?
What are the outcomes of application of plant tissue culture ?

35. Haersareldev LyBHoasaer alaufl (allerésd e aeruLD ).

Write an account of Glycolysis. [ Explanation ( or ) Flow chart |
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ued - I ( allemdlué ) / PART - II ( ZOOLOGY )
( wHQueTser : 75 ) / ( Marks : 75)

Afey - 2 /| SECTION - A

ey 1) Soearsa alemeecnien el wellbsayb.

ii) sfwrer ale_ows CarhOaHSa 6r(psab.
Note : i) Answer all the questions.

ii) - Choose and write the correct answer. 161 =16
@eauyen Cpriusmerd GeoILBSS .Lﬁl&éé]g)[bgs 2 &5 reuTsneiHED Gm@éﬂeﬂ]ém&
LGHS i )
Q) QL ygrenssalefle
2) %Eotﬂéle&@
@) @ rooGuymes
) %rj)gis(gljrrsmmé]s&'r,.
The most ;I)romising chemotherapeutic agent for treatirig viral diseases is
a) Tetracycline : b) Ampicillin
c) Interferon | d) Anthramycin.

TOUmHDLL L eTThsMeT i liue e 2 6golsligs DD Hdléeneg pevpullener
Georets eflevLit &esor QUGS 2

2f) umelguf g <) Sflcolis

)] ‘QLDE'BEB.WI"F&;@ - .om) @Qururl GeGeur.

On the basis of whose evidence did Joseph Lister discover ‘antiseptic surgery ?
a) Pasteur e . | 'b]l G-riffith

¢c) McCarthay d) Robert Galo.

[ Sleuys / Turn over
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3.

erideflur Glevg v miesoiemits Qarhlenme ghu@D (Eg_b.rru'j

=) QarQesrflun <) A0fev
Q) gﬁ]q@tpwecﬂurr L | 7 [
The disease caused by Yersinia pestis is

a) Gonorrhoea | b)  Syphilis
¢)  Pneumonia o d) Plague;

PEH SOLULODLL QB &B Gl wuisenése @)L Gu beoL CupId 2 My LG
@eiieury S P&sLILGSEDG

<) OGarmdlymssli _ <) 2oCardlymaslil
@) o Gurdlyreori L B g@&naﬁ]g;‘ro%ul;.
Graft between identical twins is called

a) Xenograft b)  Allograft

¢) Autografi . d) Isograft.

8lbg eresTEUD SHDere M IGEID 6he WIS FTihHE 7

<) Qerhg o <) Oméosyri

@) asl;rrre'réﬂ | F)  &SSHweur.

~ Which is the home area for milch breed Sindhi ?

a) Kongu i b)  Nellore
c) Karachi d) Kathiawar.

6The s_ué,gcamg,é]sbr 2_galwrey mrr@r‘rl Qewsdles Bl ubpoe wsde uday

Qg 2
2y sréeuCerm L&’_Lﬁ <) anCurensl GLm Lt
@) cl'gjéb’tﬂﬂ@\)é»lﬂ.@ljl‘l‘ S o ®) e N&Cuompr GeotmiS L,

With the helpeof what instrument Waller first recorded electrical activity of
heart ? : '

a) Galvanometer b) Haemocytometer

c) Capillary electrometer 'd) Sphygmomanometer.
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D5 cgoTLsuDDIET 61l STOBHEOL a6 &M eoriL@D uréieflucy Gpri
Q) L& bemD . 9l) AbSHTTEHEN

@) MesrLirGuen ") urrebasrrité&e‘u.l
Which of the following is a bacterial disease in cattle ?

‘a) Cow pox b) Anthrax

c) Rinder pest | d) Milk fever.

et mede Omib demesdHoe CemolGLr Uamesslalebs

Qeprorefiu Syflaflweorent
S|) 6T ' i) LTELHSHEN

@) eSvGues #) afyGsr g eSflen.

7740

Ofsefibs

The German scientist who segregated germplasm from_somatoplaém for the first

time was

a) Lamarck b) Malthus

c) Weismann d) Hugo de Vries.
&elmsmu.l Gy, GULTTEDE ....... AR ol o 218 LTHNHDSI.
o) &&Crmen 21) mwé)@t;neiu

@) ewrsGLmen #) ocolipsGLme.

Pancreatic amylase converts starch into
a) sucrose ' b) maltose

el lactose " d) fructose.

[ Slpriys / Turn over
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10. Qeusemenwgmibaefler aslblweneu
21) @@mng@mn&iﬂs\:a’a‘r &) Pyl Crrdelilevs st
@) - dbCurensl HeeT - - ' #) QCurlermengl [Haef.
The smallest leucocyles are
a) eosinophils. . ~ b) n‘éutrophils
c)' lymphocytes d) .monocytes. '
_l | 5 afgpsu@cuwmfj)gjeﬁ a1 M&ai LDFIT'H;-LQ.;?U [g‘lsmsu FHULE STTETILTS 2_6eng ?
Sl) Lol QeTameue <) oaCsrasb
Q) eeGerGemd O #) 2. coiey Q&enlsTeslD.
Which of the following is responsible for rigor mortis ?
a) Acetyl choline b) Lysozyme
c) Lysosome d) Oxidation of food particle.
12. Oesteumid erbs Crmi Leyssten @GOG CrryLer Ggm iy ws) ? |
@) SbetAur aiJ;) @icvenSilwrt é@nm
| @) @Quss Gerems ) @@Lﬂ@ﬂ&m.
Which disease is related with Down's syndrome ?
a) Amnesia : b) Alzhei.merl
c¢) Anaemia d) Albinism.
13.  weflsfld 2 LbeCrrCrCsmbé sremiiL@b ¢hie same ghuBn Crmi
=) s oyfleurer Carens 31) geom g
@) SCID - F)  eongii et Qamifur.
The human disease due to autosomal dominant gene is
a) Sickle cell anaemia b) Thalassemia ,

c) SCID d) Huntington's chorea.

(A]



14,

15,

16.

13 7740
LpeoTls @@UWGLSWG&WCD Qe aueoruLgdler X eGrrGurGsmd @quﬁ.taﬂusfrsﬂ_@g,rr@@
2) Csred A _ <) Osres D
@) Osred C | %) Gsred G.
In human chromosome karyotyping the X chromosome belongs to
él) Groqp A _ b) Group D

¢) GroupC d) Group G.

| EpsacoL abhs amysser Gsrer LL by Causwrs flédldmer 2

2 &Qemm@ym SoleanCrm smiTLcHTE 6

2) BsGsen

Q) emrueT L c%e'r.smem@

FF.) FeoLIT 6ol %é,m.em@.

Which of the following gases destroys ozone layer faster ?

a) Chlorofluorocarbons b) Methane

c¢) Carbon dloxide - d) Sulphur dioxide.

pL&E Csameiurer s Weatenyd Comeaimamenyd adliarasdle yissd Galw

vwestuL U Gureug) ergl ?
2i) et QYO ) apLyge
@) OQeutiu Ibmes F)  Gfw Syboé.

Which is considered as a source of power that can meet unlimited demand of our

future ?
a) Hydel pov&er . "b) Hydrogen
c) Thermal power d) Solar power.

[ HmLiys / Turn over
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17.

15,

19.

20.

241

22.

23.

ifley - 24 / SECTION — B

el : aeaCuad &L @ elemésenéd wl,Hb ela_welssab.

Note :  Answer any eight questions.

wirevwen Crrillear oledleer wremeal 2

What are the éy‘mptoms of marasmus ?

G TS oot C‘Surrgu QeweU{b GeasmsT WTemel ?
Name the muscles involved in respiration.

e’ ev Cpreows seEmLNyb (penneener alleréseab.
Explain the diagnostic methods of AIDS.
LDEGT Ty e0l6dT LicooTl& el Wiremen 7 -

What are the main functions of spleen ?

2| 60714 E065T - UEDTWM).

Define the term ‘Antigen’.

@LIUT LIS TeiTmITEy 6TebTenT 2

What are superbugs ?

serdiblurales wmsse SNEedser wuremea 2

What are the clinical manifestations of Thalassemia ?

i1 Slfléems eresIPITE 6TEBTEnT ? DIEUDIDIET UG &6 WTemew ?

What is gene therpay ? Name the two types of gene therapy.

oCarell Qs ghHUGD alemena)s e WTeve ?

£

What are ih_e effects of ozone depletion ?

i
"

s

8x3=24
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27.

28.

29.

30.

31.

32.

33.

15 7740

Qewpens elbETL L SHes HesTerwaal LTee 7
What are the advantagcé of artificial insemination ?
FCooliwrr Sesilett LicToTL &6l WiTEmEL 2
What are the _characteristic feaffures 6f Tilapia ?
Apuifleord ereﬁgpwei) eTebTeon ?-&@rj)g‘)]s&r QU & &6 WITEE ?
What is species ? Mention its types.

Lﬂrﬁq - @) / SECTION - C

eoly : gGpeud epedrp alamssEnse ol wefl. @Gufp@srr afleorm o1 evioT 31-&3@

Hesorq ILTe: alleL weildges Geuesor(Hib.

Note : Answer any three questions including Question No. 31 which is
compulsory. : 3x5=156

ueGeup Hlemesteurhpeneult LD alendes.
Write down the various types of memory.
miesoremnullifl Grriisdlmilaeilesr gaeuambliLser wrene ?

Enumerate the adapiationsof_ pathogenic microebes.

L OnILY alevssdlssr obledles wreme 2

What are the symptoms of graft rejection ?

weilp BGeTh HU L SleT LweTLTGH@eTYD WP&SussIaISESUD LLIQUEIHS .
List out the significance andl benefits of .Human Genome projecf.

Gsﬁ@ul;l_ @\eoris @h & EleLCu seulily erelieummy g@é;&auu@aﬂg)gj aresTuen g elleur.

Write down the mechanism that prevents interspecific crosses. .

[ HipLiys / Turn over
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Ulfley - 7 / SECTION - D
@ﬂ.h; : GFGG)G}J‘(BUJQQJISG @y evor@® aleol [Téul&@é.@ L (HID aﬁ?smt_u.llaﬂ.
Nole : Answer any two questions. : 2x10=20
34. ApeLelé paoQunib Qsflgzse Hepasaern alerdsab.
 Explain the digeétive process taking place m small intestine.

35. umgremsymu® &yull upp CeTE&S s (9GS

Give an acc;:)unt on Parathyroid gland.
36. . @LiuT® SO &;;ﬁsqé;smm meli ereleurn Gloevresoremio Qalijafﬁaaq% ?

How will you manage hazardous wastes ? .

37. Ser @ens@s UESHD QFimd wHRD BT LaT@aTEw Gbaradon Qelss ubl

alleurl.

Describe the preparation of fish pond and management of fish farm.

(4]



